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Not Achieved exemplar for 91381, 2015 Total score: 6 

Q 
Grade 
score 

Annotation 

1 2 

In part (a) the candidate fully explains a cause (keeping up with market 
trends). The one effect attempted is only a description and does not meet the 

criteria for explained (i.e. What is the effect, and why is this an effect?). 

In part (b) the candidate only describes the positive effect for option 1, but 

does partially explain option 2 – although a discussion on profitability is 
erroneous. The conclusion contains no additional information that may have 

helped to improve the grade. 

2 2 

In part (a) one cause is partially explained, and the other (technical difficulties 
caused by phone line issues) is an incorrect interpretation of the resource.  

The two effects do not discuss the problems resulting from outsourcing, as 

required by the question. 

In part (b) the first solution will not solve the outsourcing problem, so is 

incorrect – this flows into part (c). The second solution is fully explained in part 
(c) if you ignore the “technical issues” part of the answer. There is some 

additional information in the attempted conclusion, which helps confirm a 

grade of N2 rather than N1. 

3 2 

In part (a) both causes are only described (and one does not use the data 
from the resource), as they do not explain how this increase in demand or 

traffic will increase delivery times and costs, or what impact it will have on 

Weka TV. The first effect does not explain why cost would have increased for 
the consumer, and the impact is not fully explained, as it is likely to be future 

customers – not current ones – who will purchase from a competitor due to 

increasing costs. 

In part (b) the candidate does not state why Option 1 will be more efficient or 

what impact that will have on delivery costs and times. The positive effect of 
the second option is not explained to show why costs will not have to increase. 

In the conclusion, discussion of office space is irrelevant to the question, and 
the answer regarding managing stock needs to be explained in the context of 

delivery times. Discussion of “improved productivity” is not relevant to the 

question on delivery times and costs, unless there is discussion on this 

specifically. 
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